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8 1 339 sl.istn 1,45
9 s1.istn-k1 k1 7111 1 160|167 10 71 | 119 |0,14/0,71| 3,1 | 3,98 79 71
kt.1
10 1 33713 pkt 2,10 0,00
11 pkt.1-k2 k2 12 | 1 1 2,03 1222110 25 55 10,02 025 1,1 | 1,40 41 2,5
12 1 445 pkt.2 2,06 0,00
13 pkt.2-k3 k3 0,2 1 1 205221110 20 | 44 |000/020 09 | 112 3,3 2,0
14 1 333 pkt.3 2,20 0,00
15 pkt.3-k4 k4 02| 1 1 2191235 10| 2,0 47 100002009 | 1,12 3,6 2,0
16 1 331 pkt.4 219 0,00
17 pkt.4-k5 k5 36 | 1 1 2221236 10| 3,6 85 10,07|036| 1,6 | 2,02 6,5 3,6
18 1 43473 s2.istn 2,46 0,00
19 s2.istn-k6 k6 56|11 | 4 1 2471262 10| 55 | 144 |011]055| 24 | 3,08 | 113 55
20 1 308 pkt.5 2,21 0,00
21 pkt.5-k7 k7 08 | 1 1 2,20 1236 1,0 | 2,0 47 10,02(0,20) 09 | 1,12 3,6 2,0
22 1 307 pkt.6 2,26 0,00
23 pkt.6-k8 k8 1111 1 2,24 12401 10| 2,0 48 10,02/020| 09 | 1,12 3,7 2,0
24 1 450 s3.istn 2,62 0,00
25 s3.istn-k9 k9 571112 1 2421267 10| 57 | 152 |011]057| 25 | 319 | 12,0 57
26 1 452 pkt.7 2,32 0,00
27 pkt.7-k10 k10 08|11 1 2,30 1246 10 | 2,0 49 1002|020 09 | 1,12 38 2,0
28 1 30574 pkt.8 2,35 0,00
29 pkt.8-k11 k11 0,2 1 2,35 250 10 | 2,0 50 |0,00 020 09 | 1,12 39 2,0
30 1 4531 pkt.9 2,45 0,00
31 pkt.9-k12 k12 0211 1 243125 10| 20 52 10,00 020 09 | 1,12 41 2,0
32 1 51412 pkt.10 2,08 0,00
33 pkt.10-k13 k13 3212 |1 1 2131226 10| 3.2 72 1006|032 14| 1,79 54 3.2
kt.11
Sad 206119 |- 244 0.00
35 pkt.11-k14 k14 13111 1 2411258 10| 2,0 52 10,03]020] 09 | 1,12 4,0 2,0
36 1 518/2 pkt.14 1,89 0,00
37 pkt.14-k17 k17 1,7 | 1 1 185|202 1,0 | 2,0 40 10,03[/0,20/ 09| 1,12 29 2,0




